Evolutionary Computations
Student Works from Previous Semester

Lecture CIIT by Professor Akira Imada
at Brest State Technical University



All One Problem

First scemorio: Second scenario:
SON/S0%, 100 Chwomasames, 30 Genes, One Pont Crossower, without mutation, Random Parent 10%/90%, 100 Ovomosomes, 30 Genes, Two Point Crossover, without mutation, Random Parent
Selection: Selection:
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Fitness Function(FF) of best chromoseme: Fieness Function(FF) of best chromosome:
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Anastasia Khistolubova (10 Sept2018)



TSP with 30 cities

Evolution from the start to the end

It's evolution.
Fitness

—

Yulia Lishko (2014) . .

# Looks wonderful isn't it?



Lucky Dog

e =

and -

(Natalia Vyshinskaya 2013)
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2D Function Optimization

y = sin®(Snx)
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(Natalia Vyshinskaya 2013)



2D Function Optimization (2)

@ A minimization of y = (1-x)*sin"4{5*pi/(1+x"4)} (0,1) with 10-bit binary chromosome &
population 20
- By Kanashuk Anton

(Anton Kanashuk 2014)



2D Function Optimization (3)

@ Then a Fitness Sharing was applied to the same function
F Also by Kanashuk Anton




(Anton Kanashuk 2014)



